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8, 1ve H . " .
are as shown in questi siven In each section. Marks distribution for all students

extra time. on paper. The blind candidates will be given 60 minutes

T N aghs Section A : Objective Regular 15x2=30/Private 15x1=15
L ?;’;EG-*G*‘ TSI SR & £ () = 7, o £ 0w G o R @ AR o e o

=) ':Ta‘m% (3) G srmad & (7) G amaeh & (2) 7 & A 7l |

f.. - G be defined by f(x)=x"1, then f is automorpism, of G if -

(a) G is semigroup (b) G is non abelian (c) G is abelian group (d) None of these.
2. % G oF smae wEtidRaee Go ¢(@)=: If Gis an abelian group and a € G then c(a) = :

(a) ¢ _ (b le}

(e) {a) (d) T & #1E 78 | None of these.
3. g&@igqﬂﬁﬂ'mﬁd’rmt ST P | o(G) STt P Io0 HEAT & &« Wei UF 907 g (+¢) € G TW THT

If G is a finite abelian group, P is prime and P | o(G) then there is an element a (#¢) € G such
that : )

_ . P_
@a"=a DAVVonline.com  ®a =e

) af=G (d) 7% & #% A& | None of these.
4. = # & §f9 & d7gr a9 7€ & : Which of the following structure is not a ring :

(a) 2 L'+, .) (b) (N, +, ) (c) (R, +, .) (d) (C, +, ).
5. fr & & &t &1 FuT @ T

(a7) 7ol o OF 9 T 8 () wdF quierr oy o & dar

() wrF I9g F @7 ear & (z) v vitfie s we oF dA AT @

Which of the following statement is true : © E el d e

i field very integr omain 1s a ne

&:)) g::g flrnO; I-.i};: T’ielg (d) Every finite integral domain is a field.
6. Rl a9q (R, +, ) % et & wue w1 adhe ¥ -

() 7o () &= i al(:t) E;umm'cﬁ - },isz) quifhrr ar=r |

. : i collection of ideals of any ring (R, +, .7 15 : .

‘i:I:;aB;::lt:rsectlon of ubl:;?rgield (c) An ideal (d) Integral domain.
7. WA f(x, y), x STy w7 HAT & r. s, t ST @rfAE o A §, 0 f(x,y) R (a, b) T IS @ 8,

afE :

Suppose f (x, ) be function of x and y and r, s, ¢ have their usual meaning. Then fhas maximum
up ’

at a point (a, b) if :

2 rt-s2>0,r>0 (d)rt—sz::{},rc:ﬂ.
(a) rt—s2><0,r>0 (b) rt s <0,r<0 (@

P.TO.
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2 JS-3¢
dx weemar §
af2 -—-aﬂTb:-ﬂTi’H‘fHﬂTf(x)ﬂﬂ‘i’i!ﬂ"J:f(I) + o
’ N T (%) waw T d AR |
v ¥ frew eArew (z) g s & Rrm “:I'Ed'“‘“
T o |
o both and f(x) is bounded then J: [(x)dx is cn |
Ifg=-o or b=e or (b) Improper integral of l'ihr.st;jkl:?dd
o T iﬂf-ﬂﬂfﬂ]a] f second kind (d) Improper integral of thir nd.
{¢) Improper integral o
de - 2n-1 o .
in?" -1 9 cos 0= :
9, [; Ein . 1 @ 2 B (m, m
(b) B (n, m) {c) 3 B (m, n)
(a) B (m, n) '

. ¢:
&aror sraww wHIFTT F ATAIONE B9 o , -
10. a:&PP.QQ.RR;x. yf',;rti::::f?? z then the standard form of Lagrange’s differential equation
IfP, Q, R are » o

= (d) Pp - =R,
(a) Pg+ Q=R (b Pp+ Q¢ =R (c) Pg-Qp=R | 5: Qg
: 1 the differential equation r = 6x is ;
11, 3% WRAFT r = 6x # &7 & : The solution of [T,)L_xﬂﬁ
(a) 2=y3 + yf (x) + (y) = _
f:1z=::1+qf(y}+ #(x) (d) g7 @ ¥ 7& | None of these.
12.r+a2:=0$rmm%:Auleiaryequationofr+azt=0:‘s;
(a) m2+42=0 (b)) m?-a®=0 |
(c)m?-2a=0 (d) &% & 4 7 | None of these.
13. Fivit- 8w e & - The Cauchy-Riemann equations are :
ou  du du du du du
- — .= ) — =
[a)ax&y Mday B.r {br__}y =
{c)%=% T an %:%“ () % & #¢ 78 | None of these.

z
14.”&“’:1‘1(2}:%%;“’:'?2{2):?:“ T1T2[2)= :

Z+2 Z
zrw=T1(z)=E{-§;W=sz=z+l then T\T,(2) = :

(a) ———fgig b 3223
4Z+ 4 : m
42+ 3 nhﬂe'co
© 323 (d) %‘}? DAVVo
Z
15. W=Z-2 i:ﬁtmﬁfg! : Fixedpointaan:E%—i are :
(a) 0, 2 (b) 0, 3 (©) 1, 2

d) 2, 3.
WY ¥ : Y ¥l Section

1. u&G%m!mg,Gw
lbeengroupnndgm

B : Short Answer

= ﬁmﬂ?ﬂ t ah'( ae G
sotomarpin T 2 € G B2 ,

Regular 5x5=25/Private 5x3=4

< ola)>0, gx o(9(a)) = v(a) |
Ifae G is of order o(a) > 0 then o (#(a)) = o

Show that a ring R ig without 2810 d h’ﬂ' qﬁ L P TR
'Vis0rs if ang only if the concellation Jaw holds in R
il e — T OR
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sin
ntegral . _‘E:de where g > (.

Prove that the fuction w=x3_ 3py? 4 3,2 1 sati : i rmin
corresponding analytic function ux{i I Fatishies Laplac.es Fanation and dete )
war or  PAVVonline.com
3Z -4
W=7 %W%!&tﬁgaﬂrmmmw |

Find the fixed points and normal form of the bilinear transformation W =

3Z -4
Z-1"

T ® : & swdw Section C : Long Answer Regular 5x14=70/Private 5x18=90
1. Eﬂfz&ﬁ:ﬁﬂﬁﬂ'{aG%mﬂﬁmﬁmﬂwwnﬁﬁwﬁ:ﬁﬁmﬁm%wﬁﬁ#%mw
WE ? |

Show that the set of all automorphism of a group G forms a group with respect to composition
of mapping as the composition.

Igqar OR
TR 57 -aaelt el ¥ fad @it sy ¥ w9 R @& Rrg A |
State and prove the Cauchy’s theorem for finite nc : abelian groups.
2. zofsd f& sl offae qoifsrg sy oF &7 @ar @ | '
Show that every finite integral dom;n'n is a field.
gar OR
Tufed & ¢F Ja0 R &1 5% wursrdt e sod fwm aeg & qeasrd dar @

Show that every homomorphic image of a ring is isomorphic to its Quotient ring.

3. ®aT u=23+y% - 3axy ¥ If=w F f@=AT A |

Discuss the maxima and minima of function u = x3 + 33 - 3axy,
Fgar OR

Zyiigd : Show that:
J, x@-HPax=gm

4. Itz fafy & oof & 719 FT : Solve by Charpit's method :

z=px+qy+p*+q’. DAVVonline.com
Fqar OR

& #f3T : Solve :

p+r+s=1. ' P T.0.



4

5. f(2) v ¥ Rfia 83 § Rl stavas wfee T A |
Find the necessary condition for f (z) to be analytic.

, JS-363.)

Jgar OR

I8 Mg s F A R A 0, 1 INT « # w1, i AW -1 F wRfem s d
Find the Mobius transformation with maps 0, 1 and c into 1,i and -1 respectively,
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